T R 10:00
L SREFISNEHRS nzﬁ%ﬁliﬁ (2B JIKA  FEMFE
= i 1=y IRYVi AN A Fadanl ff'l'
= 5 v 17 fi& =
Zla B A #= BlTYET mEE Lo, |REE 5 2. B 4% e om .
HERIEILE * % = ol IS . .| SR | W =S sy MY~ AS Sl ) —Z F
= = 76 2168S |4 : : E A s —
ABGEE) | |10 & B & & |= Y 5| % B K # 218 539,108 v I /
1 % 2(0| £ B & & |» o 2B 3
1,626 mBE| m |3 |G| F Il % # 38 6 @ N # 2@; 3(5)(2)'388 #
3iE , —
b B 1~ 3,010 1 11,730, 800 j‘ /r 9
5 2%E 123 2110 2B -5 Sl Sat w7
2 (3@ 12325 , S : a3 14,256, 7 B s
% T4 K 125 50 125200 825 0 * & 5 2 0 ABAEmE BK: 400m AHZLEE: 50.7m FT#: EREBEAEBXTH
NEYCE) 1@ & A & |B| 120 2174B]4|©] B _ — & 7@ = iy 0 E 2 ¥m S ChERLA
203 % |"YN200 2 F s & 5| 16 50| Bl B ox = omm 300, 200 R I )EACEAORIL. BREEn( ABg ))’E'\’—‘?L'C —clbY
1,625 mB5| m |3|@| 1L JI E K 15 6|@| i & B B oEE 729, 800 TR A A DT B CEEN
m o 2w A KEL—RIZHNT, 20 B 2D HF LT ENE DEBLIESL,
# 3~ 3EH 1489,
R [28@ 3=a4 50 2B 5~4 268. 000
; 3@ 2=3=4 510 = 3EE 3~i:2440 1,020 7;; 13, 714, 000 e S
(D4 F 324 120 233 :: = 71@] X & % = B| 2 #48 0 [ N & A . —l@ﬁk—f‘ﬁ B - ’ S|B . “‘Ez B2 (FH
KBOD [oo[1S B B % [B| s Z2J [0/ F B 2 & 21t 01 L—2z (BZI&% 2 F & \Fleme| B v el miazm] 5 b - ;g/z@aﬁzjﬁ —
3 1,?25 miE| m |[3|@® B A #E & +5 6|@® T H # = gzz }gg;;gg 20 $1®EI 9711’_’3 WZK B:E $45§ 2| 94(3.93 ; 790% 0|110]1]5]1 :3:; f;gf ® 84 0
$h > 5~ 1 2,060 3@ 22, 633, 600 El | AT 110913 86| B 87,03 1103 [ 1|0 [18[19|F} & 20 3 70.0
R|28# 125 540 32: c1 <7 3,850 qj?r 519, 600 gﬁ 2®%17,. = NGl ? A8 FIg #7765 A EH
& | 3FH 12527 580 750 =7 240 a3 26, 763, 600 "]-‘ ’.‘E A ﬁ‘l& 3®5|]__ INENE ’7/* 15353@ Wl 6703, 92 o 8108% olol210l0]0 P25 615
3[4 F 125 440 5= = x 2Pl 0 - B 21700 ' F1ERE 5 2 3
ARRGERD |4 o] % fiu'] iﬁ % j%: ;’% 11251 2.22.0| B ‘51 % I?TJI 31'—“ PN g 7@ & X ® £ 222 680 408 —_ @ — & na e /1\+M T AT * ﬁSS*&. m| 65392 , 82.1(83% 0/0[0[2|1|0|pE 5452
2 = 2 A& z = 284 , y F2# 152 4
MEEELIENHEEE B 20N S — S Lo | R 5o% 51 "m g% E0fE & 930392, 84261006 4|1|0|RE LE 22
= ’ ’ 3] o - T
$h - 2EE 1~7 120 35EE 28,302, 200 > EK . INRRE = 871385 11901010 jo|ofo]|0|EE & S8 sam
R| 288 127 120 5 1 ~7=3 700 54 F 1.291. 400 (ScEEEE) CF 5 B K ABE @ 5 . 000 I
% 3@ 12327 390 3EH 1~7 50 Y 34,123,000 ) =2 1 695 6 TR 393 83,9810 1 2] 2]0]o|f1® g1
B0k 127 100 =3 STIO R B E E e T B ThE 0 wl 0 Lo A g =]5n & 72393, 238
- " B 120 22 5 1B s 0
AR IERHOEEE R HES s|o| & 1l KB 2 yman | |wasse N
1,625 mis| m |3|@| # & & 18 6l@ M & B A 2EH 2,632 100 _ (7 E#37)
i 32E 5 121500 \ FE16:00
h & ~ 10,120 3EE 39,121, F2 BRE 5 5 2 @ 109. 0
2®8H 126 12,170 2RE 1~6 : 869. 000 fJ T 5 82,00 10|32 E"
% [omn r=o=e 220 360 SRR e = 47,158, 200 g i||1 OlE[bE | #s ek ) 8603l =2 ALIRIL To AT % %'8
B[4 F 126 1,440 123 = = - = 7 & = 2 0 E RN +  ==|38% &| 90|3 93| “La310lo]1|2 Fox 5 6 6 4 )
PR oSGl E R B (R Ve Tw|s|6| & & 5w ° ) s 849, 800 e % A & 27 if% T 13]3.92 - 85,1211 1 0] o] 321 SRR ki
6 205 mi| m |3|@| W T — @ | |s4% clol 5 B ¥ & 2 2,078, 500 © & (39| % B E26[@ 1]113)3.92) sl MR
#h « 1,390 44 3%, 007, 000 " alelEAlETT  —  mlsolrms| s7)s s8], 093/010]2/110]0|Fii =576
R|[2E# 125 920 iii 2:1~7 5,960 24§ 908,00 e M . i;ﬁw s %(119(3.92| B 68161 1|1]5]7|BE K9S
e 1:5‘__’700 R 5=7 530 = =7_900 2% 43'040'408 51 " IO 2& 7’ FNE X — 6741258 P2 NE R B AT
% P 125 4 = — = 2 BEE = PETE e
8 734%35(5@)505 TO[Z B B 2 2|23 %9 (410 % B £ [ [7|0] 5 B X B | |2BE 0 $/_\ 5| CFED | Tole/AIT T gn s A 720586, (130[ 0| 1] 1[1]2]0 ik o LY
gt : H & = |£| 1% 5 = - 1,265, 300 B -+ 83.33 5 W
Ji 2’0%25 fﬁ% m g % ;‘%T M I?ﬁ ES ’5"?"\" Bl6|@ & & X & g;ﬁ ggggg];gg H:H 1,625m 6@@,3%5]_4”““ Ij]40'§’ sl 93(3.92 o Sop 0] 1|1 1]0[0]F 5 4@ 6
i 3,190 258 3~7 3,980 §§§ 37,810, 100 [j: #Y016:19
R|2## 327 , 3@E 3~7~5 12,390 24 F 796, 500 (7 E31)
& | 38 32527 1970 5 520 =7 670 a5 45, 327,900 - H3E16:23
BIAF 327 300 = 5 3 70 X E B = | | 2BH 0 ﬁ 2R @ O 4 ® 1360
g| fBERD los|J1GI R 2L BRI e PO EREE 26 1107, 500 = $1®E| N = e gl #1302, 90.9%Tolo[2]1]o[0[P A2 8T & O
“ e = = — =]
205 miE| ™ 3|0 XA A B ¥ 35 6|60 T % x E |s gzz 2,396, 500 IE = B Wﬁ i oofE @] 95 92 85,130l 2]51|1]|1]|B®RELIDE ® 9.0
e =1 ' ' Z i I% = 3 /2N 5 T 50
AT T T 60 1 LT o 3s 3 - Z A & 3w Al gz sE wieie, 92.80 (146 1] 0[4|17|F Axoli 1 S D e 2T
s =25 3#EHE 2~5~ ~= * e o, I =M - N
® s 22527 250 _ & 57 =% 39, 999, 000 ~— £ S B NPTERER — M E a7 Tolol1T115]7 ,E%f]’i&gg%g
2874 F 225 120 227 160 _ = STe & & = © R 0 ohyo - 4@|% 15 B EE EE|42/& %0| 89(3.92| g 062 A
g MCHMER-B-8-adl BV R RS - 2itM e | G 500 b )i Kmenx B0 oz eatlalals2[3[7[HEEE QR ®
002 5 — 3 2 : : :
) visma |33/ % 8 5w |”]48 S — S 2585, 400 g @ﬁlﬁ”j “'3?: g A A117[3.02 830 2]33|1[4|3|FERe%S
th B 7~ 180 B 33,949, 600 L gl w2 - S N : : P2 & 4@ a4
= = 120 2HE 7~3 SE ' 6 T 85.9910(0|1|3[4]0|E1
i i;g Z:;_.7 330 SEE 7~3~2 - 590 24 F = gggggg = 1,625m Dl /Z\QH. + B pE|%E M 84392, 100 0 F2 FIEET 5 3 5
5 2 haihdh = — 92 =X : : =
B J4F 327 100 227 230 23 - = = THE 0 %‘ LN 16:42
SWEEE) [ (5| 1]@] 18 & & = |& 123 2592[SB[4]® ;fg s % 7|0 B B * A ha 0 (7 &)
10 7% [*%2/0| k0 & % |y 54 5@ é s 281 675, 900 -i 271646
comlnisiol BB X N — SEm 7345 400 — A 97355 [5]0 0 s[n[Z A EE 1D D e
th 5 4~ 0 3 39, 586, 400 | | AIE" N Z=(BF 1%(121(3.92 555 F2h #3006 101.0
R[22 224 240 2B a2 570 S 710, 400 L, L 10 ié U5 % = 90,96 FERE 0 0 0 2 91.0
% [s@# 22425 490 SiEH 4~2~5 L. 5% 46, 048, 800 s AP 2|501% 1| 79/3.85| g 0320100 1|0[0|pE o4 ® :
oK 224 160 a=5 160 =5 700 o 205 08 x A 2% A+ F 2 .11 1210 0lol1lg|2% &5 11 -
= S ﬁ‘&(i@) 0.0 1 @ :IéI: é = 11@2 2.57.1 S8 g % %Qﬁ Eﬁﬁlli r%.\ 7 @ E %= 7 2*—’|—"$ 208 $ —'é 1] 3@3]_( ‘]Aaijﬁ'jlll % %29 “Ii E ]05 3 92 1 599 E;fl gexztﬁ‘llgaﬁﬁ
; 2|0l A5 B/ % B A < 281 919, N = 85. 90 3 =
11 2’0%25 fﬁﬁ m | 3|®| #© [ =) 1+5 6@ & & Fi gzz gzggzjgg — " —E/kﬂ# 4@% é%ﬁﬁE x iﬂZGﬂJ‘ﬁm 11113.92 3 °»38 0(4]|0]|1]11|12 :::?iy\ ;;é?
i 2EE 4~ 1 760 1 44, 426, 800 2 5o/ Aa"ig = elele # s e, 8.810/02|3]1]|0lfHa B 28&
L JEET Y 110 aEE 4~1~6 320 94 £ 1, 346,000 o W £ R F # 85,36 NECE
£ [ 3E#E 12426 190 =6 5 &F 52, 926, 700 *BER | (ol Aty s4al46(l 2| 82(3.93| , 3330108 2[2[0r g 4 5 2
B 04K 1=4 100 426 160 =6 130 & B = 27 0 wl o 6 —t—! H & F A 91,66 Fifs W2 @6
S RGE O] X & % & [&] 1] 2%5 5402 B & & 7|0 S T |2k 0 R 1.625m 1T iolial AL Tk =« 23lse | 121]3. 92| B 502169 T|O[3[1]r pewiz %38
12 oz 00200 B Nl B & v 16 5@ & ZE T 2B 2, 340, 600 ER = 2/.8 i JIF A5
e ————_— —— T 0 17:05
31 s ) _
*EL‘ 288 2256 670 2EHE 5~2 700 33{%% 9?’23?’%88 FE17:09 (72831)
2 [ 2m5=7 590 SHH 5~2~7 150 2L 109, 793, 800
8 J1F 225 290 527 150 =7 860




R W B DB

) o Al

=

=

i

b

R

) o Al

ot

2

) < Bk f R

EEEH

L—2 |BE5n B F B |[Jame J vt srelane mmED] ] mrmms REEFR
B s o s Ao wBl2[1[1[o[o[s|BE B&de [0 o
222 A%y sld5l® 40| 83(3.92 W 1dlglgl34f1]|0]|22 BODG 2 181:8
A 5 10 Bk E A 6 205 RE 5000 ®
e [SIOPF TR Uil mE aym ) 8393, 57,9511 3 4] 0] 8| 11| 2 228 5 3 % pye
A@\& A ep & | m| 93392, 86,8310l04|6[3|1|BHEE 3539
SeE % 7 & mPiEm #9539, 88.9810l04]4[3|0|HE H2R"

SRR et e sprn s, sdifofofo[1[s[ 1 [EE B 2¢.x
1 02om ol Al i st w1213, o2fS? 8.0 1] 1 0|3[a[ER 21 3e

#HLN17:28

P I

“1@52’5{’?& ~r EElpe @) 97)3.92[% 92.3Molol6|2|1]|o|F R BSS4 g 12?8
S % 22| 3 ik ”EH B4R W] 77[3.92) Zgilojojol2|1]o|FERE eSS | o
_w BOFSRTE @ mek s epe, 98301415/ 1]3]0]HT Ba7is A4

deE 3 E B K pux 5 9%, 555/ 01010/0] 0] 0| J*E %S Sosam
56|% 5[3E "3 == =En[28mmw|115)3.92 , BBlol2[1]of1]2|E5Ees33°

(REREE) 6@ﬁ§hj]i ”"; & EleE m| 15392, sietlofolofof1|o|EmE L #e
o |Vl S s mom o o, 5210 ole ofs[o[5 " 222«

#EE017:51

P

7 RS e oo i [s[7[o]AE R5as [0
o 28T e me el T T
— o U & AFE B|103)3.92(, “a57( 095|071 |Fim w731 »EMH

4@ESE "m s apleE #0130, B 1|2/30f1]6|ER T340
56\% 57 = =/51e £ 69]3.92| B83lojojol1]|6|o|BE Eese®

(EEREE) NOE S|4z mﬁ% K EE[ofE B s[3.02, 9.9 0 116/ 1[1[o]|E N =300
20%m \Volsl SO A @ Fnse® 4 70[3.93) T lolo|2]{o|1|0|&% & k% 0mm

#HeN18:14

gxi1gg| (7 F)

B s [ERx m =E s s wlofo[oo[oo]iz B583 [0 o
S % 2®%§%ﬁi"aﬁ % {E[OE 1109392, "at|11418/0]4]3|6FuE 2555 o uso
@ 5 SO TE B sux skl 830052 0l0f2(B|HE RS2 * &

4@E SR M m pelsir m| 6|3, B alolo|a]a]5|0lxT2295s
56[& S "B f=hspomE m| 920385, 100,810/ 216|7|5|0|F E* B 5548 s

(RSEE) 6@!@31@ B = =l A ssfso, 92.0010/2|7(2|2[2|H4=E eS8
2w ColeSiE e g —|oE ) s, Mslo1]9]3]9]0]F e 682"

#Ht18:37

gxig4r| (7FD)

- BIE Y T FRTTEF30S ~ - E—ZUJBME MR FRI8RF205 ~ nEEEBRC55H5
EEECHAINIRICE. T—IA— FOL—RES - RAECERLES N, 5 i
 EREBNAEE. TAY - BERELTERLCEEN, ¢ E
cFoOFTSHTHE, BRETOLHERBOELEE CHATEET, o i

CARBMEH 1 28y TETHANEDE XL, 2 o

KEHFDOBAF20FICLE>THE, BREWIEIEECELAEL £, %wes:mua!-’&?’

A of A

3

=

X OF IR RN

— =m
o S

A of A

F

%
ER

A of A

it

o2 A

b3

RYF AT [ pfE

L—2z (BZ|80 2 F & (Tame B irvn JTAmE gﬂ; AT fsle TR *% ()
9 [eEH EE EE P G2 [s[o[+]s[AEE 259 [0 o
S # 2®%?§_7?/H ft TR 8| 825925 Piga[0[043[3|0fiA maas”  |@ 0
2 5 [BBFRK A s 10392 567]0[ 1]6]1[5[0|Fi pam 5 5 2 * T

4@E|3E " w0 winpe, *,08]0]6[2]0|3|5|Fiwim 6 76 6
5o Rk e & T & 930393 10258 12]1]6(3|2(3|fE R4
PR 6®ﬁ§%+%’§ e BmYIE EMB9, Z30006[ 1] 03[ 7[H7%" %5%° °
il N T T SE4epu ) 80j3.02] 4 Foe 0102 0]2[0|F A & %% °
#£119:00
gei0:04 (7FID
10 AR e P sl [«[e]fia Be5? [0 0
s [ZYRIE B mopgm wnsp ] s o[z [o]o| Bl st he |5 o
g [SOFIL A —|oE m01397)] g0 7[3[3|6|1|Fx 06 * &
dolE Sl e —|lex m sl 156210139 af4|1|l|EEBDTQ
5% $|E "k = (|t m| 89392, 1044812 4| 1|2|3]4|F EE2 29
prE 6®ﬁ§% AR th8E ) 763,92 M51|0]1/87|5[0|F Baom s 15 °
200m Vol SIS K g — 6@ w| 00]3.02[5, 1049010/ 0|7(3|3|0& kR 7 1,2 %
#£019:25
sei0:20| (7D
RN osEE n + mlem #epa], g lo[o]1[s[s[oF5 R 28, [0 0
P B S P PN 0 e gsloo[a]s]1[o]fa 82° o o
e SOF 4 B & e w epo)g 074 10(0/4|3]3|0[Fh 2852 A=
4@%3 5 M & | A 1639, orgtlo 1] a1 [BH B152 "
51T B Il g EmoE 802, 955 ]2 T[4 1|4[0|F BRI C 6
(R 6@3@?”{3””% e Sc[3emiEw| 97(3.92[ 101811305 4] 1[nfs[@HRuL S S
2.00m Vol Sl Ty 45 gE6pE m|115)3. 02|58 1574191 6|2 [0|8|10|F] AR 18 g
#£019:50
geei0:54 (7L
12 M0 EH A [0 [o]o[a] JolF % G uem [0 0
S #k 2®i§?§1:§3 AR e B %9,00/01016/0] 1]0|Fi o 5 & 1 ® 200
N 3B SIE " B olum 8173927 103, 7412(10/3|0fo|5|G4 25822 PR
4@# 3l ‘D xom wns3e), Sogalo ] 1]2]1[ofHE N %% nem
5& S " — gmu of esjso2f, 1028310 06| 2|4[0fH% 554735
w8 lolalSla™ g s mns ol 5[5 0 0] 1|1 [8[F1 57 e’
vosm |ole Sk 5 e ool 238 s 2o o[ 2] 5 82
#£020:16
see20:20 (7 D)

BEGRERE4 ¥ ADFHR/RTY,

STR&E47ADRAE— MREPNHIREL., EEADRAICHITERKTY,
BKIZRIE4 ¥ BORENY IR MLy FE by TTEBLEZEIHRTY,

O X BEHE. 2R EEE. BR. RBOBIRE. OXHFERY. Eik (b5 LAY DEFIEZRLET .

Pz

=z

[=]
I

OXMBZEZDMOERTRERLNENSZEAHBYEYT Tz RELL—ADOEBIRBGLEEE, FIETHIENHYET .
OWBRLEMEHAN TELVERICRIMREITEEEA, ORIKFRLETHSEEFOHELIVATEABHYET.
OBEVRDICL--EHONRF, REBOTIHRRBULET,




